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\
! Big v —F 207 180
Sy E%—#E/Y—K 22 — 105 41 — 151
hrg: E%—E/Y—K 53 - 312 60 — 331
A El# — v—F 4 — 40 9 — 84
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Q | BHSAESRY | MRTESRT | RAESE | MITL— | BAAGE |[JL—%| PO | KTHE e Y—R
1] 1:05 0:00 — KO -84 | — | — | #-14 - —
2 112:00 11:10 1:55 - % - 14 7 1 -0 TD 66
7:01 3:06 3:55 KO -3 1 3 -1 4DOWN 64
1:35 0:26 1:09 PUNT 1% - 44 4 3 -0 D 56
3 | 11:53 11:06 0:47 KO - 21 5 1 1% - 42 PUNT 21
8:32 7:14 1:18 PUNT # - 20 4 0 1 -25 PUNT 5
4:00 1:38 2:22 PUNT # - 20 7 3 H - 31 INT 49
4 110:58 6:35 4:23 KO % - 36 9 2 % - 30 FGNG 6
3:37 1:45 1:52 FGNG -2 8 2 % - 33 FG 45
0:52 0:00 | 0:52 PUNT 1 -35 5 1 H - 26 FGNG 39
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Q | BHtAEERY | RTESR | RAESE | MITL— | BAAME |[JL—%| PO | KTHE e Y—K
1 |11:52 8:16 3:36 KO B - 29 7 2 # -39 PUNT 32
8:07 111 6:56 KO % - 26 | 14 5 -0 D 74
2 |11:04 7:01 4:03 KO % - 28 8 4 -0 TD 72
3:06 1:35 1:31 4DOWN | #% -1 4 0 -5 PUNT 4
0:21 0:00 | 0:21 KO - 45 4 1 #-35 FG 20
3 [11:06 8:32 2:34 PUNT % - 30 7 1 % - 43 PUNT 13
7:14 4:00 3:14 PUNT - 46 7 1 1 - 34 PUNT 20
1:38 0:00 [ -—- INT g -48 | — | — | -4 - -
4 112:00 11:04 2:34 - #® -4 5 2 #-0 TD 52
6:35 3:37 2:58 FGNG - 30 7 1 - 22 FGNG 48
1:37 0:52 0:45 KO % - 16 4 0 - 22 PUNT 6
<EERfi: 44TL—9>
1 | 1E-%K & - 25 9 2 -4 FGNG 21
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1] 1 |# 36 | 8 |PASS| #&@ - - | x 1 [#% 39| 8 | PASS | Bl - - | x
2 2 | 3 | 3 |RUN| ER 2| x 2 |# 35| 1 | RUN | &k 2|0
3 |4 41 7 | PASS | D — wraer| 15| O
3| 3 |# 42 | 10 |PASS| &BE - - | x 4 5| 1 RUN | &K 110
3 4 |48 25 | 5 |PASS| &R - — | x 5 14| 11 | PASS | BB — #0# | 14| ©
3 5 |% 28 | 2 |PASS| B@ — ##E [ 7 | O 6 |# 3| 8| RUN | HO 2 | x
4l 6 |# 33 | 7 |PASS| ER@ — ##E [ 7 | O
7 |# 29 | 26 |PASS| @R — fER | -1 | x 7 |# 35| 5 |PASS| @D - FE | 6 | O
8 |# 30 | 2 | RUN| %&EFE 3|0 8 |# 43| 8 | PASS | &Z - — | x
9 |# 28 | 10 |PASS| #&E - - | x 9 [# 45| 1 RUN | &H 4 (O
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7 1:01 |24 28=TxF5VR (F4ITxVR) 15
8 11:04 |7VvRBE=YT US4 9059 + 15
9 | 2:28 |k—=HF5—4vsL 15
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